
  
Harmonic Mean: 

Harmonic mean is a numerical average and it is calculated by dividing the number of observations by 

the sum of reciprocal of each observation in the series. 

Thus the Harmonic Mean is the reciprocal of the Arithmetic Mean of the reciprocals. 
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Example : Find the Harmonic Mean of following 

 3, 5 

 

 

 

H.M. = 2/0.53 

H.M. = 3.75 

ii.    2, 4, 8 

 

 

H.M. = 3/(0.5+0.25+0.125) 

H.M. = 3/0.875 



H.M. = 3.428 

iii.  

x 2 4 5 

f 3 2 3 

 

x f f/x 

2 3 1.5 

4 2 0.5 

5 3 0.6 

  8 2.6 

H.M. = 8/2.6 

H.M. = 3.077 


